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BREIT7—TL

NPT-45 NP-45 NP-66 DR-1S MC-2 DR-2w
= 4 4 6 2.15 4 25
HALX(m) £ 5 5 6 25 7.3 46
=S 2.8 2.8 3 2.35 2.8 2.35
E (kg) 65 90 135 25 130 57
xa PVC PVC PVC PVC PVC PVC
=4t K PVC PVC PVC PVC PVC PVC
- AXE - PVC PVC — PVC -
S CSM CSM CSM CSM CSM CSM
URERH 4 X ExHtx 5 1.0% 0.7 X 0.5m 1.0 X 0.8 X 0.6m 1.2 0.8 X0.7m 0.8 X 0.6 X 0.4m 1.2x0.9 X 0.7m 1.3% 0.7 X 0.6m
T FSHE 34cm x 3 34cm x 3 40cm X 3 19cm X 2 34cm x 3 19cm X 3
SEE XM A 27cm X 6 27cm X 6 32cm X 6 19cm X 5 27cm X 6 19cm X 10
ZE 575 % #% (ACE — 4000NP) S 1= 1= —- — —
#HIKT (FA-LY74b2.5ma—F{FE) 2K 2K 4K 1R RES RES
(RAYFRUVAV B MTE)
ERMES 3IDONEREI—F (10m) 12N 1A 2 1A 3 22
"R I=FJ—/L B0mEZ) 118 118 1{e 18 {1 1{E
HEBAZS EL 7 7ATY ISR —A 11& 11& RE] 11& 1{& RE
N T 14— BF7AM-100HP (F— R / X JL{tE) 1= 1= 1= 1= 1= 1=
EERKDNS (2XK) 1% 1 1K 13k 13 1%
(TR ERARE . fERIAH — —= — —— &S 13
LS v T— —— —— —— LE 21 —
NIE ) — — — — 21 4E 2{&
TaAVT—)L — — — 1xX 13X 13X
BRERAT B [BEKR> T — — — 1= 1= 1
IL—=5—n\vJ — — — 1X 1 1=
20— 81 —
I7—A/3 — — — 132 248 —
T2vRFYIHR/3 —- —- — —- — 43
T MIALEE 18 13 18 18 18 18
ZIL—L—k(PE) R EHMF 142 145 11 1452 118 -—=
JTIL—>—hR(PE) IR T8 E 13 1% 142 13 14 11
vk T 11& 11& RE] 11& 1{& RE
EERO—7 AR AR 47K AR AR 47K
XEBEEHRATUIRY 4K 4K 4K 4K 4K 4K
= pEsE KEERO—THETUIRY 6 6A 6 47K 6A 47K
; #EE NII— 118 1{& 1@ 11& 21 RE
O RERBE 30%% 30%% 504K 158 30%% 30%%
RUOVIIWBEHET 11& - ——= 11& ——= 11E
A )ILRKEHE — 11& RE] — [LE —
SFIvY 301E 151& 15{@ 48 321& 121&
;Y FI(FHDE 30 8 8 4 32 12
#HELEYE 11E 11E] 118 11E 11E 1{&
18 @mIEATr —R 118 11& & 118 e 1{&
A -EEGERSHEE (FHikE) ¥3,350,000 ¥4 800,000 ¥6,100,000 ¥1,660,000 ¥6,500,000 ¥4,000,000
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